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Estimate the energy released bﬁi a small thunder shower due to the
condensation of the eva(aoureo\ steam into I\qu\o\ water
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A home owner adds Ad = 8.0 cm to the
Ow— = L o insulation Iaaer of the attic with d =15 cm
‘ ‘ How much does this improve the insulation
of the house
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we notice that Ad/d s by no means small

®
PR, + RA (LT
CL<|—I-Z§¢—)

- R - BT (. of - @5y (@Y |

Yigrar B
5225 (9

where P is the or\ﬂ'\nal power o\'\gs'\Paﬂon of the house
0 le.
- PR - [(AP - AR5 (-4
.=t
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\-02-62 The water absorbs energy
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Here \ do not use
but in stead the heat capacity of
water with respect to mass, | just
have to make sure to use the

same er\er\% units




